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4. Answer each question by darkening the one correct
alternative tmong the four choic€s on the OMR SHEET
with blue/black ball int

Example

Q. No Alternatives

I 2 4

Q. No Alternatives

l 3 4

Student must dirrk(ning rhe right o\al only afte, en'suring
correct answer on C)MR sheet

5. Disparity in mentioning .(OBC, SC, ST & PH) ln 5

/6re did qi{c q-i a1 qqE t urqiF6-d 6t r

g-{ deIT \rc alr{ q-I (oac, sc, s'r
& pH) 61 3iil 3nqol qte{r sfi B-{sdr o} 3rill
dr rrffifi t I

,I O. 3IFIiDT w 3IN q-I

df-qr qrtmr cgff a+r Zft{"f 3rgffi onq d 3i
\rlr fir rr, o'r 3raq 6{ s-o-ff tt

4. ZTt

application ti)lm and OMR sheet can rnake your
candidaturc invalid.

6- Students are not allowed to scratch/ alter/ change out an

answer once marked on OMR She€t, by using white fluid/
eraser/ blade/ teariny wcaring or in any other form.

7. Separate sheet has been provided for rough work in this
test booklet

8. iPleasc hando\er the OMR sheet to the invigilator befbre
leaving the l-l\arnination Hall.
+Take all yoLr question booklets with you,

9. Darken completely the ovals of your answers on OMR
She€t in the time limit allotted for that particular paper.

10. Your OMR sheet will be evaluated through electronic
scanning proccss. Incomplete and incarrect entries may
render your ( )MR sheet invalid.

ll. Use of clcctronic gddgets, calculator, mobile etc. is

strictly prohibited.

12. Total I hour extm time will be allotted to visually
challenged candidate only.
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MANTEL ABILITY TEST (MAT)
atFo sfldr cfr6r

(ouESTroN NO. 01 - 100)
(cr< riqr ot - too)

It sum of two numeber is 25 and sum of their
square ls 425 then what will be their product.
1., 2l,0( ( :^,\ 2. 3oo

/-3. 1oo' ' - .t 4. 400

B
(c €v-:'_-

lf 0.64 = a'?= 64 then positive value of 'a'will
be
1 0.1 2. O.O1

3. 1.0 4. 10

Divisor is 30 times of Quotent and 4 times of
Remainder, lf quotent is 20 then Dividend will
be.
1. 1,20V
3. 10,000

2.4
6

/6or qr

u.
=€./oor

6rl
*;
cL.6,,

Qt

a'.J-
Cqoo

lf 3"-'h - 27 and 9"

will be
_4 ., I

7
,a
" = I then value of - -

\
2. 1

3

3

5

e

t-b 8

8
4.

5

E

tf JtrJl I = Jl I * J6 th"n value of .r2

will be

1. Jl I 2.23

e. G 4.24
a

I'3

9+ rrl
/&v)' I Va- I

LL'
r 6\)
3-) (

1
1i3.3'

I = u.
(o -cil
(d'i4'-

; t! + ts
l04

t20
9

05A ' l_| eage 2 of 32

3':16EOU{EJF-IB?-t
f\)
L-9

\-lfo
>3

,a--fr

qfr r+4= lo E) d "x, *1 or qn elqr.r x'
1. 29 2. 25

3. 24 4. 27

ztft vly=l dPfl x2 +/'=t5 dl (x-y)'
6r qn E}IrI
1. 21

3. 25
2. 36
4. 16

11 ;1 a+b+c qrr qrc drn
bJ

1.7
3. 10

3 qR abc
57

2.3
4.5

n , +?j -10 then value of r' + { will be
-x .x

ll x+y 3 and x2+y2 =15 then value of

(x - y)r will be

1. 21 2. 36

. r -. ^,4-^n" -- ' thenvalueof ""''' will be
351 b

10
1

4
1. 29

25

2. 25
427

4. 16

a.ff or dm +zs d dt sq Stqrcif 6l
xuTc's-d e-ilr{g
1. 200 2. 300
3. 100 4. 400

4 ?TR €sroli or slk25

qR oo+ +a2=64
qn d.n
1 0.1
3. 1.0

ni '3' 61 tlTtflqt5

2. O.O',l

4. 10

6. qlvliF qfq$-A ?FT 30 lql
4 x.{r t qR qrm-a 20 E\ d ql.,q t t

OT

2. 12,150
4. 600

qft 3':' =27 4 9"b =3 d'a'f -i* *
d.TT

5
2. :_

8

4q
5

7

3

-4
J

I
6

t7+xJl =Jrr *G d d ,', or
ql{ +irT
i.Jl l
:.G

a. qR

2. 23

4.24

q

ke-a-

zrl

1

2.

1. 1,200
3. 10;000

2.3
4.5

1



fi f}O2"o.2ra =0.2x0.2xJb then vatue e. qR 0.02x0.2xo =0.2x0.2x 6dd s
of 1 will be

b
1. 0.4
3.0.04

2. 0.2
4. O.O2

b

q x-3
6x

fi 7-h ano 7+J1 are sotution of a
Quadratic Equation, The Quadratic Equation
will be

1. xr-14-x+46=0 2. x2 +l4x-46=0

6,I ITH fr-flfl *IT
1. 0.4 2. 0.2
3. 0.04 4 002

x'-14x-46=o 4. x2 +l4x + 46 =0
ln a Triangle PQR if
zQ = 31 R = z(ZP + zR) then vatue of Ze
will be
1. 110'
3. 40"

2. 12A"
4. 102"

e'r- q', *n oep'+q'
6x

tf
p x+3

then value of

2x'-9 x2 +9
12xl2x

,\9 .x -9
1 lf perimeter of a square is sarn€ e3 that of a

Reclangle whose length is 24m is double of

its breadth then area of square wifl be

1. 324m2 2. *2m2
3.224m2 4. 330 m2

lf two numbers are such that their defference,
th€ir sum and their product are in Ratio
1:7:24 lhen product of the two number is
1. 48 2.44
3. 54 4. 38

1V. Ihe mean of the median, mode and Range
of the
1. 8
3. 10

{g*F (eil 9TIR ?Fr qlt{ t
1. I 2.9

4.7

observations 7, 6, 7, I
29
4.7

I

I

10. qR t-Ji E z+.6 ffi Esro q-fi-f,rq
dWddBqrdHfi-o-iurdIft
1. x2 -l4x+46=0 2. x2 +l4x-46=0
3. x2 -l4x-46=0 4. x2 +l4x+46=0

zg=:zn=z(zr+zn) d d
d.Tr

PQR N

zQ 4r q7

1

3
1 1 0
40

BU-T

2. 120'
4. 102"

11. qR tufr-

P ='+1d dr p:-q: {nrr il,rq x-3 p'+q'
6x

x'-9x2 +9

1

J 4

6x
2

12. qR

x' -9
l2x

x2 +9
12x

i3. qR tu-S rd 6r qRqrq!frB ffF
3{r.kr oT t fusq'l cqr{ ea +f,i i olti
vsft1 M+1 g'r'fiBvs'q',f 6-ret Fd
dqT
1. 324 trrf flo t 2. 342 Trf ffo
3. 224 srf fro 4. 330 Erf fio

14. . lf volumes of two cones are in ratio of 2
/ and their base radii are in ratio of 1 : 2 then

/ what will be Ratio of their heights
18:3 2.3:2
3. 4:3 4. 2:3

3 qfr Ei sr€on A oTrq-fit 6r oqqTd z'tE
oir B-{-d omrrit ol B'qrcil sr srjcrd
1:2 d d Biet 6qr$dt 6r orgcm @r
E).Ir

14

1. 8:3
3.4:3

2.3:2
4. 2:3

tf

1

3

2' = 3.'-t"nO 9/ = 3'-6 then value of x + y
34
a,

15

2. 25
4. 24

qft 2'=3r-t q g, -3'-6 d d r+y etft15.

1.34
3. 33

2. 25
4. 24

16. qR frrff d s@reft d om-i.E E
t d n\ dSqrctioI

2.44
4. 38

X"H
SuritF-d 6hTt:7:24

1. 48
3. 54

05A
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18 A person spends 80% of his in
tncrease tn the cost of living, his

I
increased by 37 -oh and his income

)
increases by l6'^Vo. His present percent

5

saving is

nlu.
J

come. With
expenditure

,. rd o/o

5

2

4,.t/s
5

oo/o
5

3 7

19. The cost of five chairs and three table is
3110/-. lf cost of one chair is 210 less than

cost of one table. Vvhat is the cost of two

tables and two chairs
1. 11760 *-2-(1000
3. {1660 4. 11800

then value of 'a' will be20. ll t=r-+
,7

3

l5

62
l4

2

4

62

l5
6l

6 l4

fi ! ot anumber is 5 more than its | . rnen''8-.- - - 7
21

Nine times of Number will be
1 380 2 208,-

\3 308 \-a<-260

lf a cone of height 24cm and base 6cm

melted and reshape into a sphere. Then
what will be the total surface area of sphere
1. 36r Sqcm 2. l6t Sqcm

3. l44r Sq cm '.--*-142;z Sq cn

23. P and Q can do a Piece of work in 10 days, Q
and R can do same work in 15 days, R and P
can do the same work in 20 days. Then in

Ho$, many days R will complete it alone
'1. 115 days 2. 110days
3. 130 days 4. 12O daYs

24 ln the following which one is the smallest
[. tt^ li tli\/J, VZ , VZ, 1'r

1 n5 2.'Ji
3 )tE 4. .tO

)t

JI

16 
2 07" aafi t t nsdr qst :zf z e-a uror'-3' 7

i r a\ vsot cdqn e-{d qtrPr-f, n +'fr

18

o/o

5

Yo3

I

3
2. t21. rd

5

1
4.5

6{dlOT3q-.fr3'IEfr
tssfr1 3TT{frtildisdftqi6+

s!o/o
3

{2ro o-q

5@ +Tr?
1. t1760
3. t1660

effid

T3 01OIfl-{q 5Fq tdtsOTstff cfi 5.qqR c6 5Fq
6IE dtsddrE\

2 tl000
4. 11800

_lt=a+-r*1
e+l

2

l5

ra' E I qf{20.

62

l46l

2

4J

62
t4

sfr frrS *iwr an i* ifr 5 'tror<I

d n\ ss {cqr or d f<r d'n
21

2. 208
4. 280

'1. 380
3. 308

qrETR Td d fuqr
gq' rtrdr iHr{n ffg
Et{r-d drm
1. 36n sd tfro
3. l4&rqd tffo

z. l6aqd tfro
4. l42n Ef tfro

22. ITE g24qR 96
ftqarorol6tfro

.m OIdr sq sq"i

t. o ei'q n rrq\ ts kc t o2n n s P {t
20 Bq t qx rroi t d n erd-m seorq
oi ftrf,i srq t Tn ot'n
1. 1i5 fr;I 2. 110 frq
3 130 ftr 4 120 frl

10 k{ ttrta \rd 6IEI23. P

HI
1,,4

24

2

4

{i
J'

I

3

FE,

J1
Jj,'r5 , J,

05A
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^Nll", 4e*
gx8 +g

€

+ B--E
6,r+t-8

25 lf P denotes +, Q denotG -, R denotes x and
S denotes +, which of the following statement

-is correct.

\ 36R4S8Q7P4= 10
2. 16R12Pa9S7Q9=200
3.rS8R9=160Q12R12

JL18R8P8S8Q8=57

Direction (Q. 3'l to 35) Find tho missing term in
the Be?ies given below.

3'l 2, 12,
1. 48
3. 63

? ,90, 120

A,

56
72

, Y

qR p or 3td +, q 5'1 olsl -, n 6T slef x
ert< s ol sre, +, d ffifutr n t ot{
qr oerq we t?
1.36R4S8Q7P4='t0
2. 16R12 P49S7Q9-200
3. 32 S I R 9 - 160 G 12 R 12
4.8R8P8S8O8=57

26. \rfi af,c i oo frer qg B, wri t rz
fict ql F-o-rd fl vtrfl fr crfi fi-dr
Eqr "ffi ttvrd qK T{,sS frqor fr
t rz fra olk tr6rd or vcrd wra
u.il{r A crfi frdr frqr rrqlt gH cfrqr
d erE ss r+{ t Tn qr d mer aro
dtuc I

r. za.+ftaq 2. 21.6frsr
3. 36fra r. Se.ltrrr

zz. ffifua crc li \rq fu6-cq 6t gftc dr
erq fi-q fto-qt t fi-q tr
1. 15:46 2. 12:37
3. 9:28 4. 8:33

28. dG6J aff vo {k d r or lem erfi fls
t zoqi dsTr B ifl TgIFT Erfi rqq, t roqi
$ I orv-+ TsrF oflqfr t T{ili rtt A iD'I

teffi qrfr rqs t 3osi d qnr t {fu
t 6-s6i of ea $qr rmsnt
1. 46 2.4
3. 45 4. 48

26. A vessel contains 60Ltr. of milk, 12 liters of

milk is taken out of it and is replaced by

waler. Then again from the mixture '12 liters

are taken out and replaced by water.

Find the amount of milk left after the

operation.

1. 28.4 Ltrs. ( z. 2't.6 tt 
".

3. 36 Ltrs. 4. 38.4 Ltrs.

27. Select the one which is different from the
other three responses.
1. 15 : 46 2. 13";-37
3.9.28 *--F8:33

J8. ln a row of bovs A is 2Oh ftom lefi and B is
\.16" 'Trom right,' 

'interLh-arigts their position,
ihtsn'A becomes 30s from left. Hor many
boys are there in the rol r?
1.46 2.4

\-A-1{ 4. 48

2e. viD rs tffo tw srd th{ qq o} a tflo
gw d <-rrcr g6-€t t 6rdr trrdT t I ti
ft;a-i qq t ffit Ard vo' scE fr {.fti
tr
1.54 2.U
3.44 4. U

29. A 15cm coloured cube is cut into 3cm small
cubes then how many cubes are formed
whlch have only one face painted.
154 2.64
3r,44 4. A4

c6 fi-dr uri ga t erdr t fa 'v< gr
i-sr Ec .) dt tfr .ng gtrff sTrg of d-{
Tfi ,fr' qR fuil efi a-dcn ong 4s E{
t, d r qro c-dd de-.d ol urg a+t S?
1.24s{ 2.8qd
3. 12 s{ 4. 16 s{

5U.30. A father tells his son 'l was three times of
your present age when you tiv€re bom" lf the
father's present age is 48 years, how old was
the boy 4 years ago
1.24yea's 2. 8 years
3. 12 years 4. 16 years

iit{r (cF dutv sl TEffirrtua d gq
€qr grd 6ll

56
72

2
4

2, 12,30,
1. 48
3. 63

3l ? 90 I 20

05A
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o

L q1 121,-TnI
I lo

32. 10, 100, 200, 310, ?
'1 400
3. 420

33.' 0.s. 2. 4.5. 8, 12.5, ?
t. to

2. 410
4. 430

3. 16 l-s
I 0Q, 74, 46, 25, 1 1,
.3,

?
2
4

0
3. 1l

39. Simplified value of

98

99

'7"'3 +14x7*a
1n+3

2. 100

4. 97

rs

y
.t

T<s t2)
24

.lro-to
I5o

6g Siiva
n'r

32. 10,100,200,310, ?

1. 400 2. 410
3.420 4. 430

33. 0.5, 2, 4.5, 8, 12.5, ?

1. 16
3. 16.5

2. 17
4. 18

109, 74, 46, 25, 11, ?
1. 3
3. 11

2.0
4.4

3'7'?'21 '31

't.6ll

l3It

35

5
2

9
43

9
7

24?n16
35.

l3ll

5
21

I I

9
43

6

9

7

24?ll16
3' 7 "1' 21 '31

qr< i srd .rc t fuffq t ro t-q strq e)

s++l rer frqr arqr r qfr Ti gc i-q o)
dffifrwrqqeiflrrqrdffit-{
s-d6 ffi t rd q-i ,

1. 168 2. 158
3. 79 4. 89

36. q6'Theie are twelve dozen of apple in a basket.
Two dozen are added later. Ten apples got
spoil and are removed. The remaining are
transferred equally into two baskets, how
many are there in each.
1. 168 2. 158
3. 79 4. 89

36

+{t grd vo stPI E}ft
1. 8trffibl rcft-+e

2. 8 EvtiFl a3 
7 g*
ll

3. 8 tluFb1 at 8 frrrall
4. 8 Ttr6-r aalo qag

ll

qqq qe937. I

.d ttrtr t a, s qt{ c 6T rfl-q

I A 12

B 10 7
11

1. A=13,8=11,C=9
2. A=13,B=9,C=11
3. A=9,8=11,C=13
4. A=9,8=13,C=11

38.

aqr eh'

At what time between 8 and 9 will the han
of a clock be together
1 . 40 minutes past I
2. 43 f minutes past 8

, *: fr minutes past 8

o ++]l minutes past 8

38. What is the value of A, B and C is the given
matrix.

o

B 10 7
8 11

37. ds

1

2
3
4

,B=11,C=9
,B=$C=11
B=11,C=13
B = 13, C = 11

A=13
A= 13
A=9,
A=9,

7'*3 +14x7'*a
----ifr- at wtdrS qr{ *q-r39

2. 100

4. 97

1. 98

3. 99

\-)
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40 lf tanx = 5 -rE then 22 tan(90 -.r) is equal 40

to

2. 2-Ja

+. 13+r/J

qfr tanx = 5 -.,,6 d 22 tan(90 - n) ol ql{
q{-{r Ein

s+fr 1 5+J'
s*J:

22

2. 2-Ja

+. B+Jj3

s. 1l+516

5+r/3
22

,l

a;. n o- t 

Jj anan=;fiU then find the

value of la2 +llab -7b2
r fi+3Js6 z. r3+rlJG

+. r1+s6.J1
42 Two pipes A and B can fill a tank in 12 and

15 minutes respeclively. A third pipe C can
empty it in '10 minutes. How long will it take
to fill the tank if all pipes are opened
Sirnultaniously
1. 20 minutes 2. 30 manutes
3. 40mifites 4. 25 minutes

A sum amounts to Rs. 800 at 3olo Per annum
in a certain time but amount to Rs. 1000 at
570 per annum in the same time total sum
and time are
1. Rs.500, 20 years 2. Rs.400, 20 years
3. Rs.550, 20 years 4. Rs.600, 10 years

44. lt a and b are the roots of x' -2x -l = 0 then
value of u2h + ah2 is
1.-2 2.2
3. Y2 4.4

The pie chart above describes the
characterstics of lndian visiting UK from
various states during a given year,
Answer the following questions given below.
Assume that the age wise distribution data
applies to all states and that in the given year
1,00,000 lndian visited UK.

15X
Others

20%
8en8al

Kamataka
trA20-40 yea

20%

20%
408e

Below 20

tu6

qR o = --1 .- slr a = --.L- a2-J3 2+J3
7a2 +ttab -7b2 6T qlq Srd olfG\
r. Jr+3,66 z. l3+1rJs6
g. ll+5.6 + 11+566

41

d qr$q a eff{ g s6'*o dt mqw: rz ett
is fr;re i Wt-o, qri t, vo fl-s-n cr$q
c, io fr{e t $S d-4, o} qn urfr or
sfdr tt qR ftt cr$c Vo' Hrrr q-d A
d as to, ffi qrq t Wr qtnz
i. 20 fr{e 2. 30 ft;re
3. 40 fr{e 4. 25 fu;re
Vfi tl{{ftr ffiau<) :x sErl{q qrq Eq
w frtrqd wq-q i 8oo tu-n (ftqtr<) d
qrfr t, c-{g sx of gnmq eIl.,r E{ rR
qS er-r'{fu looo $Ti d urfr t t ga
er-flrRr Glti sr{rqE gp6 dfrt t

1. 5oOS.. 20 E{ 2. 4oOS., 20 q{
3. 5s0s., 20 q{ 4. 600s., 10 e{

43

44. qR . dtt b, ,' -zx -t =o Bqrd H{fflq
ddWtda'6+ar'6lcr<gtd
dftTE
1.-2 2.2
3.% 4.4

Eelow 40

2G40
20%

B€low 20

fix

15X
Others

20%
Bengal

Karnataka
fir6

Page 7 of 32ffi - rrzr-at. ;

srr Ri cr{ srC { qrrc * ftfuq qrd t
frffi v6 st t Wrrls ff.rgq tiri qrd
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45. Number of visitors from Karnatka in the age
groupjr-20-40 years

r----+ 20000
2. 18000
3.'12000
4. None of these

46. Number of visitors from Maharashtra below
the age of 20 years.
1 3000 2. 5000
3 60000 4. 8000

+Z How many visitors were below 20 years of
age but were niether from Kamataka, nor
Maharashtra or West Bengal?
1. 7000 /: tsooO
3. 9oO0 -'' 4. 6000

48. The ratio of visitors from West Bengal below
20 years to visitors from Maharashtra above
40 years in
1. 1 :3
3.3:4

49. Find the difference between visitors from
West Bengal and Maharashtra in the age
group of 20-40 years
1. 4000 2. 6000
3. 3000 \-.L8000

50. The numberr of ways in which 6 students can
be seated at a round table is
1.720 2 120
3. 410 4. 350

45 qrd zo-co
A rfut ol riEsr

20000

18000

12000

s!-tInt*o\{T€l

fro eo ss so) ,lqcqTe-cr
qr< Xf6 ca q ffifu( crd S sff t
7 n4P %JV I K 3 @EW 2Q@6TA'8Zl 5
$FU#9HN

I

2

3

4

2 12:1
3:1

51. What letter will come next in the following
ggriqs?_ . J. .ir)t :...yii
A-BC D E F G ZY XWUVTBCDE FY
XWVUCDEXWVR'
1.A 2.V
3, B 4, Z

52. Among P, Q, R, S and T each secured
different marks, Q scored higher then T only
and P secored higher then S but lower then
R. Who among them scored highest marks.
1. P 2. S
3. R 4.7

Directions (Q. No. 53 to 55) : Study the
following series carefully and answer the
questions given below :

iutp"t"Jvr xe @Ewze@6TAtBat s

$FU#9HN

05A

oq 3rlg d qri srA
q-4-6
1. 3000
3. 60000

46 rcrqY t 20 s{ t
2. 5000
4. 8000

ffiai q\ 20 E{ t 6-q org
A e) qrd cT a\ oqig6 t. qr fr rrdmE

t si'-s c fr qtrqq dila * ,P
1. 7000 2. 15000
3. 9000 4. 6000

47 Vm tu-fi

zo dR 6'.q ert dAl---ffiffid

2. 12: 1

4.3:1
1. 1 :3
3.3:4
zo-ao qd at org d qR-dq .iT ra q
qenrq d q-fui ol €cQTBIi t fu-iln
3f,fl +rfi
1. 4000 2. 6000
3. 3000 4. 8000

49

FA ilR\ sili o ffsrrff fu-f,i
dfui * i-o e-rd dt
1.720 2. 120
3. 410 4. 350

so. v6 rtd

ABCDEFG ZY XWUVTBCDEFY
XWVUCDEXWVR
1. A 2.V
3.8 4.2

Grffi 6tq qr +tnsr w2vartsr.rar

-T-ilar i ftq-ftq oi6
oTffid fuC. a i d{f, r t wr<r d."q p i
s i.,qrqr dh,-q nt 6-q 3i6 elq fu(l
flt t fu-s i sd-A GIfu6 ero qrq fu'ct
't.P 2.S
3. R 4.7

52. P, Q, R,5 E T

Page 8 of 32
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53. Which of the following is lhe si)dh to the left
of ninteenth from the left end of the above
arrangement

,-f$ 2 r
3. W 4.2

54. How many such consonen are there in the
arrangement, each of which is immediately
preceeded by a symbol and immediately
fy'llowed by 2 numbers?

/1. four 2. One' 3 Two 4. Three

53. ffifua q t 6t{ rrr slf o1i{ i\
s4ld d effr T{s ud carn w i
1.$ 2.r
3. W 4.2

54. Ss TsdT d fuf,i aiG-{ i-it d fu{d
eo c-6d qili fufl flarT qrE n 6ti d
eio dr
1. ?R 2. g.F

3.d +ftc
55

Directions (Q. No. 56 to 60): Study the
following information caref!lly to answer these
questions. yl E 3,.F 'i',, f
Seven friends A, e, C, A, €, F & Sperform in
stage shows on a different day from Monday to
Sunday not necessarily in the same oder.
Eaph one pgrforms 7 differen! item yiz M$sic,
sn8gch o/nce, Miinicry, Plfy, DeEate and
mofiblogue, not necessarily in the same order.
B performs play on Thursday and E performs
Music on Sunday. G performs mimicry but not
on Tuesday or Saturday. C's performance is on
the next day of G's perfornance. D performs
on Monday but not the next day of G's
Performace. D performs on Monday but not
Oance or Debate. A performs Monologue
which is on the next day of speech. Dance is
not performed on Saturday.

56. Who p
1.C
3.D

erforms Dance?

4,A

lf all the symbols are dropped from the above
arrangement then which of the following will
be twelfth from the right erd.
1. O ,r{. 6
3..2 v l. T

57. Which item is performed by D and on what
day?
1. Mimicry- Monday
2. Music - Tuesday
3. Play - Wednesday

L,lL- Spd6.ch' - Monday

55 qR q'fr ftr{+ oi €-cT ftqT urc d fr.r{
,{E-dr t EI{i Gilr t qR-drsi dTr -
1. Q 2. 6

3.2 4.r

{€l fuqr qrf,r tt
s6. Tiq o1 q'qfr 6ldl

ftdvr :- (ro €o so t oo) : fi ,rfr qffir qil
q'r{ {f6. og 6"r Hqfu( crd d sf,{ d -
qTf, fr{ A, B, c, D, E, F IIETT G Tiq qq 3TTfr frft-q
o'-dry frq-fl trfudn d-6's-qd 6-{fr i fui-6r
ot{ frfr-dd Fq c-& t c,*6- qfu srffr o-f,r
o1 rqfr 6-{dr t St ti,fl-d, qNUr, Ts,
3tE6-tuT, qrco, qr<-frqrE asn \'6-d 3lfu{q
fu{6r Fc frk{d rS tt a Xren ol crs6
wgd oTdr t aedr r ffan of fi.ftd, G srge'{ol
6-t-dr t c-{g {rrrrm qr {rFi-4ri dl qst c,e
6 srrd ft-{ sTq-fi e-qfr ter t I o sTc-fi e-qfr
Sq-ffi oi t-ar t qrg e $ errrd fu{ oTTfr

rqfr Tff tort o v}rqn o) oITfr rqh tdr
t qtg ce q d Tfl o,-{dr t delr c E
qn-fu{rs orar tt e vo-a etR';rq 6rdl t d
qrqur d oFrd ft-{ fior tt ae vrF-an o\

2.F
4.4

1.C
3.D

57. O T{IT 6qalT 3rti fu-q fu{?
erSo-w - frron

2, q?fl-f, - qrrdq.]-t

3. ;[e?F - grl-dR

4. 1IIqq - dTqN

1

A ol rqfr eqrd A fu-q ft-{ Et-ff t -
1 rirpga;q 2. grtqp
3. {rdR 4. YrFfin

5858 s on which day of the week?
2. Wednesday
4. SaturdayJ

Tuesday
Friday

0sA Page 9 of 32



59. G performs on which day of the week
1 . Wednesday
3. Tuesday

2. Sa rday
riday

60. Who performs in debate?
1. B 2. O

3. F \-*4=
Direction (Q. No. 51 to 63) : The venn

of oeBons.
' tducated

king

61 What is the number of non-working females
?

rqfr swrc fu{
2. Yrkfl{
4. {m-qR

60 6l{r fu-qr \ilrf,r
2.D
4.c

diagram (ro€o 61 m)
Er& dra t q.n d srt

$lsTr
d'rd-qn

firErd

qIE
1. B
3.F

given below is about a small town having
population of 500 persons' The square
represents persons from urban area, the circle
represents working persons, the triangle
represents women & the rectangle represents
educated persons. Number written are number

{ tr fua t Ef {r6fr A-{ A #l dI E{ltdl
t, q-t arqord ff ot. slrrrd RIft-6 ff 6)
drr f*gd qtrdrcil 6i <{tdl tr ftrd 'r$M # ol rtqr tt

vr6t

\H 2. 57
4. 80

lf urban population in 350, what is the number
of non-educated non working urban lvomen.
a 0 -- 2.9.- rtr 4.20

t

62

bJ What is the number of urban male who are
educated but not working?
1 30 */163.50 '4. 110

64 ln the matrix belo/v, the numbers in the cells
follow some rules. ldentify the number which
when substituted for (?) maintains the same
rule.

12
27 35
14 z3

LT 2
4

o

6
1

I

10\| 9)

'fi, ,a\

d.r'
o

10 \

4019

70

10

7

q'Iq?F.IcI q 6{i Erfr Yl{fr qffi frf,fr
*)o:

et {i@T61

B;T*R4IT 350 )c

2
4

6'IIrS'ISI;I
frrilff i?
1. 167
3. 17

1. 0
3. 10

I
20

62. qR

2. 57
4. 80

oa. qRrfra, oIrFErq q
o1 ficsT frtilft EY,fi?
1. 30 2. 40
3. 50 4. 110

rCqr( EE ftqdt d sFf€t{ {lsfl risr
6.r qq-q"61fuq fi 0)i Wta, sfr dr

12 ?
27 35
14 23

Yr6fr

I
6

1. 18
3. 17

7
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59. G

1.

3.

B?

'( ,- /,-r{-o

s
40

TI-qI

fue 5oo a1 wnist

drr

o+. fti trd.tc tFtr 6 srcl q' ftfd.rfi

7
21
7

2.
4.

1

1

?7
21
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Column - ll

I
D

PHONE
TROUPE
TOURIST

Direction
below, th
column I

ln Colu

in

these

N

SKRQH
GILFKV

WLxOLPW

Four words are written in
ll, Equivalent codes are used

s. For each of the four words,
patterns are used, ldentify the

questions given below & choose

No. 65 to 67) ln the ta
are two columns, col

n

Sr. No. J

Column - |

q) 6tdc tt atcrq I sltr 6i-fl{ n | 6Tdq r q
qR vrq ftrd t oft oisq rr { qc rrql d
fds Ee qnr iFT c-ftr fr-qr rrqr tt q+ snt
q<T A ffrC slrrrr-qErrt te{ sdrr at.r{ if

OIcFI I OIETIT II
60t{0 ttr< ee qNr qar6

CHAIR
PHONE
TROUPE
TOURIST

YDWEN
SKRQH
GILFKV

WLXOLPW

&
t.

r

: (ro$o es 67)

$-& H qr aaq dfrg t

Hri"ft

frq crii {

. lf 'JUDGE' is coded as "MXGJH' the
paftdm followed is Serial Number -1.4- 2.8vn 4.o

urV dr u-gm Ez srsq elrn m-ofio -
65

1

qR'luoce' qr qI-sT "MXGJH"

A
C

fuor vrc a) ugm qr qrsq d.n mofio-
bb

2.8
4.D

.EtVIPLOY' ald qrsr "AILHKU"

1.A
3.C

66, If 'EMP
pattern
1.A
3,C

LOY' is coded as "AILHKU' the
forro edis.L-aDprrt-

4.D

lf 'JOURNAL'is coded as "Q
pattern followed is Serial

4

MZQ'
mber

the

ffer vrC a) r5m qe srsc drn modo-
or

4
1

J D
2,8

.JOURNAL' aF qTsT .OLFIMZQ'

c
68 to 70):

D, E, F, c, H V{ EfrroR t-q d aqri} 6
qm-srq +q ?fi frr gu o-t* tB tt qe d
{rff d{ qwt wnr qr t-dr t, q}fu r d <rfi
ft t ffi wm qr 161 f 1 da-a e fr n Sr
c d frq to tt c,e d Erff ortr ffi RTH
qt tdr tt r drr x d A-s d-{d \'6 Eqfu tdr
At orE ffifud crfr d vt-r Afusr

: frorio ee zo) : ora A, B, C,

d Erfi *i t grs otr
qRrqa68 qr rq sfr

1, ECHDGBF
3. EBHDCFG

2. ECHFBDG
4, CHBEDGF

table facing the cente. I is sitting second to
the left of G, Who i! sifting third to the right of
F. Only E is sifting between A & C. C is sitting

third to the left of B. Only one person is sitting

between E & H. Now answer the following
questions

68. Which of the following is the conect order of
seating of persons to the right of A.
1. ECHDGBF 2. ECHFBDG

',3. EBHDCFG 4. CHBEDGF

69. Who is sitting third to A on its left side
1.8 2.H

Oirection : (Q.

around aC, D, E, F, G, H ArE

D

on A, B,

circular

4.F

70. Who is seating exaclly in front of A
1g 2.C
3. H 4,F

A

1

3

70

05A Page 11of 32

B
C
D

2.8
4.D

.3.
2.8

6e. A d srff stl t ffi wffi q( dt{ d-dr

tz
1.8 2.H
3. D 4.F

d &sr qrri ot{ i-dr t?
B 2.C
H 4.F



7
'h,-

tbDW vt-,fu
ry-1Yffi

x

Y

1 -25-+ 6i X7& rt7 _y5+ 5€JTtt7

72 Arrange
in which
choose the correct option
(i) BHAGIVAN
(iii) BHAGIRATH

1. iv, i, iii, ii

Lj'-rqlii, ii, i

73 R is the brother of S and

lf % means r
@ means -
A means x

v means +

Then the value of
42 r7 v 8 @ 25 % 63 ,r 9 is-

1 -10 2. 14
3. -20 - 4. 30

lYs

(iD BHAGWAT
(iv) BHAGAT(i)\l--d

2. iv, ii, i, iii
4. iv, iii, i, ii

M is the Fatherr of

5 = 100 then value of

2. 49
4.7

71 fi o/o ol +

g or erel-
,. 61 $Qi '
', 

tFI'3Id =
42,.7v8@25Yo 63zr9tFI rlFI -
1. -10 2. '14

3. -20 4. 30

:+
th

t
e following words in the sequence
hey occur in the dictionary, then

R, J is brotherr of P & P is daughter of S'

What is the relation of P with M
'1. Grand Daughter 2. Niece
3 Aunty 4. Sister

74. lf Z = 52 and ACT 48 then BAT is equal to
2.44
4.50

ll20'3=180and4'
7iS

3

6a How many points
to the face which

will be on the face opposite
contains two Points.

a.,
(D.

2.4
4.6

1. 1

3.5

77. How many minimum line segment requi rd to

draw the given figure?

1. 16
3 18

17
19

t 2e +
\2

Lll)
L A-T 0

4

b
S
t)

_>
S.L Ll

\64)ryq:5

aa
aa

ol t aq rr& mq d ft\ ft'fr-fl 6l qqq

dtuq:
(i) BHAGWAN (ii) BHAGWAT
(iii) BHAGIRATH (iv) BHAGAT

72
q-4Rrd

2. iu,
4. iv,

f. iv, i, iii, ii
3. iv, iii, ii, i

ii,i,iii
iii,i,ii

,{r{ i 3iY p,

@T'qEiq tl
r. frfr
a. efi"6

qrqdzq-ffi2

4

73

{fiI

6lPitrTRo'ls
gT2Td6Tta P<hl )

i+. qR Z=S2dzrl ACT=48
t
1

3

dE BAT{{r.r{

44
504

.39
46

?s qfr 20. 3 = 180 dgfi 4'5 =100
or qrc drnt
1.21 2. 49
3. 343 4.7

7'7

aa
ao

8f,6 II{76. 2 Gtg qra sa-6

2.4
4.6

1. 1

3.5

fdg di?

fun-i Wi d sTrE{q-6-dr

2
4

1

3
1

1

6-q6q77

M

b
8

d,ft?

17
19

05A
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ry
o

Vo
o)

o
oA

(2) (3) (4)
Choose the correct option from the answer
figure whach appears the same when
unfolded.
1. 1 2.2
3.3 4.4

79. A mirror is placed vertically as shown in the
figure. Choose the correct option for minor
image.

SUPER.6O9
r 906-fllqU?
2. a09-RlqUe

,a-gt'-srqua
a.f39U?-a09

80. Each vowel in the word KILOMETER is
replaced by the previous letter in the english
aplhabet & each con'sonant is replaced by the
next letter in the English alphabet, then the
substituted letters are aranged in
alphabatical order, which will be the fifth from
the left end?
1.D
3.M

81. The black star moves one position at a time
anti-clock wise. The white star moves two
positons at a time clockwise. ln how many
moves will they be together again?

D

c

B

78. gfi oFrq o) fu, 3Eqrr ffi rTqT sili
E-sn d-( ft;d rTq 

t

(1) (2) (3) (4)
strr ffii q t 1]-S furs or ?{q dfur
fr qrrrm of EH q-r ftlgt{ tt

lo
o

o o

o o

oooo

o o

o o

oooo

o o

o o

oooo

1. 1

3.3
2.2
4.4

7e. \rfi Yftw frl 3r$Tri uLsirn rgr=l
cftjaqnMsrdffiitqfror
T{q ftlfirq I

SUPER.6O9
r 905-fllqUe
2. a09'RlqUe
3 e0a-81qu?
+ f39Ua-a09

80. {f< K|LOMETER il q-an-6 rg{ (VOWEL)

3iffi E"fqrfl d ffi rr( (atphabet) i{
vec{ fuqr qrg 3n-i !-an-m qso
(consonant) er.fd qE (atphabet) * qffi
fiqT sN I 3,1-q qft-{ailfra qs\ o) qE

3lf,f,q (alphabetical order) fr eTql gN nl
qift 3rii d dfqsl q< F-q. t t Eqr eiflz
1.D 2.L
3.M 4.N
ordI (r{ Vo qR ti uS 41 nq-66 P*
ti go renc {nddT i t rrS-q oM \'6 ER
i d rrrrq q{ililr tr ffi sR {arF
q(f,i qr <lci ilt sRr-qrsT Eftz

C

81

2

4
4rh
grh

oB

E

6rh

1 0ih

1

3

o o

o o

05A

1. 4rh

3. grh

E

2. 6rh

4. 1orh
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78. A piece of paper is folded as shown in the
figure & then punched :-

["v vo lov\ArqI oo 'l oo lI oo tl oo I

bl,--n.lt"AX;\"l
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82. tnlnicn U the given Net from the answer
options when folded will results in the given

cube?

1

4

+
t
o

3

'r/

,l

X

83 Which of the alternatives will complete the
figure?

/
(D

f. iii
3. ii

( ii)

Directions : (Q.No. 84 to 85) : Count the num ber
of cubes in the given figure of each question
and choose correct answer out of four
alternative.
84.

2. 68
4. 70

/
(iii)
2.i.-*tr

1

3
64
66

o

t
o

\

\

\
\

(iii

2.
4.

ct{JT

21

4

2{JT83 wl

(i

t82. sfl{
fuqI ,tqT qr clq *rn?

(i)

f. iii
3. ii

{ s=il a1 {sT EId dfuc
ffi d sS f{6-fl gfrcr

84-8s)(uovo rN
qF(dETI "Nfrc

1

3
64
66

84

2. 68
4. 70

85. {Tir{q
EI
1. 203
3. 205

ea ffiil]

2
4

204
206

q{The number of squares on a chess board85 is

1.203

3. 205

2.2M
4. 206

II
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which can be folded into a figu re. Choose the
correct alternative which can be made from the
net.

86. Question Figure

Answer Figure

Direction (Q.No.-86&87)

87. Question Figure

Answer Figure

A net is given fiono 86 87) go
G t ffi +s-m{
tt wfr f*o-cq or
sm-dr tt

ftr
\1iD, 3rrffr q-+r{ w {-o-fr
qcq o1Fqq q) ie * e-{

n
(1) (2) (3) (4)

(1) (21 (3) (4)

figures (l)(2) (3) and (4). Find the alternative
which contains figure (x) as its part.

88

No. 88 to 89) :

following questions figure (x) is
any one of the four alternative

NA6

Direction : (Q.
ln each of the
embedeled in

89

(x)

(x) (1) (2) (3) (4)

(1) (2) (3) (4)

o

(1) (2) (3) (4)

s6. cr{ fut

sflr fu,

oI r
XEX

(1) (2) (3) (4)

88. y5{ fu'

sfl{ fu,

X \Zz\ x
(x) (1) (2t (3) (4)

88

(1) (2) (3) (4)

5
(x)

89

X E

t
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I

o

GM @@

ftfu : Fo€o aa t as) ilrr=rT@ph-
(x) d wgu 

"n 
cR-qftfd onfFdqr fr G tM t ot{ vo tS t fr orgh (x) vror

It-wr tt sE qrgfr Erd a1fuq fffl-or Tffi
sv urgft (x) tr

*

)

*
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90 How many rectangles does the following 90 trrqfufun n ft;ai eriqo tz n
figure have?

2
441

1

2
4

2
4

2. 17

(c) (D)

(3) (4)

1. 10
3. 13

91 ft'ow many squares are there in the given 91
3. 13

1. 11

3. 13

1. 11

3. 13

2. 17
4. 16
q{;I qrgfr (a)

4. 16

Directions (Q.No' 92 94) ln each of the (uotio sz-sn)
following questions, figuresAandBare aw (e) qgsq sqRl-d
related. Find the figu re from firure (1), (2), (3)

and (4). Which has same relationship with tTs[ (+)tltmorfft
figure C.

&6 sS q-6rq {qfuf,
(e) tt

ia. Question Figures 92. q{q

*

.r
(A) (B) (c) (D)(A) (B)

Answer Figures a.r< elrpft-d

.ll
2 J 4(1)

93. Questions Figures 93. gY;l

(A) (B)
Answer Figures

o
(B)

3rrfftql
(c) (D)(A)

cd{

o
2 3 4

-Directions 
:- (94 to

questions choose
figure (x) from the

94

(2\
96) : ln each of llowing
the correct water image of
four alternatives (1), (2)' (3)

(1) (3) (

@ /FA-\
vll_c-l

67"t\
\cJ{9/

(x) (1) (3(1) (21 (

ao

96 oTr?fr)(s+
G?TrtrIttdeiil G))(+ oTrp.fr)(s

dt{

IT*

*

tr F ?

.la
^at tio

ao I a
o

??

05A

(x) (4)

94

(2 4

1. '10

figure?

(c) (D)

and

@ @ @

?

t r engfr (1),(z), (s)

Eftt d ergft (c) t
d ft otpfr (a) f,'gn

1

o
1

(1). (r),
cfrfrq sr tz

@ @ /67f\
G9/ @

o
o o
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n

96

98

100

A
o
(x) (1) (2t (4)

(x) ,-!r Q\ (3) (4)

Directions (Q.No. 97 to 98) ln each of the
following questions, you have figure (x)
followed by four alternative figures (1), (2), (3)
and (4) such that figure (x) is embedded in one
of them. Trace out the alternative figure, which
conta i4slts!,re as it's rt.x
o-,

(x)

(x)

(1) (21 (3)

f-t(rn)
i>tt

l& 4
Oirections (Q. No. 99 100):Selectafigure
from the four alternatives, which when placed
in the blank space of figure (x) would complete
the rn,
99

(x) (1)

3

| (3) (4)

(x)

(1) (2) (3) (4)

05A

SfiIGEOTYIL{F2A

o
A

o
V

C
A

o o
A

0
V

95
c

X 1 2

V

se oTrffr 6T grrE otftrt I

96

(s (t
s0 97 98 SFT(co ) 3Trffr

a qr{i qrt
1 iI9JI)(, (sfl-ffu ) (z ) ))tt T6. 6Iot{ Fr6qqfrEEd t I

sTrffr )(,

X 1 2 a 4

97

(x)

(x) (1) (2) (3) (4)

/ ()
,98

frtv'(cosom
{ t e-6 fr6-n gf+n d srrp,fd (x) d H ot
qw orcr tt

ZANN
(x) (1) (21 (3) (4\

,//o o

PaEe L7 ol 32

e
95.

+
\rw
V

w
o

1

N

(1) (2t (3)

A

k

(3) (4\

\
A

E
\

^

A

t* A
^

(1) (2\ (3) (4)

-)

99.

100.

N



P -ll
SCHOLASTIC APTITUDE TEST (SAT)

dGa, dr{dr cfiHr

(QUESTION NO. 101 - 200)
([fi riwr tot - zoo)

101 A body starts from rest is accelerated

uniformly for 30s. lt x1, x2, x3 are the

distances travelled in first 10s, next 10s and

last 1Os respec{ively, then x1 : x2 : x3 is

\2
4

1. 1'.2:3
3. 1:3:5

1

1

1:1
3:9

rrEn{ 5q t €fud e}fi ttqR
,t, *z glt{ x3 rFrlYI: q6d rot, ortrd tot
3i-i o{fuq ros t drl d G $d t dl
x1 :x2:x3 qffi-t i -

3
5

sltrl SiltRqlT gT{rq 6{ 30s101. \-fi Tq
fac w

'l

3
1

1

2
3

1

1

2
4

1:1
3:9

102. A bomb of mass 3m kg explodes into two
pieces of mass m kg and 2m kg. lf the velocity
of m kg mass is 16ms1, the total kinetic
energy released in the explosion is
1. 192 mJ 2. 96mJ

{. 384 mJ 4. 768 mJ

102. Vfi 3m kg ifl qq 4K mke

2. 96 mJ
4. 768 mJ

2mke d d 9-6-€I i ldilftre d qmr tt
zIR mke ferqrq 6f trl 16mso, 61 6$fe
t sffiftid ed.rft-q s-qi t -
1. 192 mJ
3. 384 mJ

Medium I

103 Figure shows a ray of light as it travels
medium 1 to medium 2. lf reflactive ind

from
ex of

medium 1 with respecl to medium Z is $
J3

then the value of angle x is

45

45

1. 30'
3. 15"

60'
45"

r2
4

TEII

qTEIq 2
45'

45

qtElq 1

qR qqq z
t;

srqq-+ii6 f:
J3

1. 30"
3. 15'

!-mT{r al \16103

furqqtr{crtqtqqzli 5u-rff tr

d qrtH rflElrt 1 rhT

B, dt aigr x 6l qFI t -
60'
45"

2.
4.

1O4. Which of the following statemer s b true?
1. A convex lens 616 p6ry3t +4D has a focal

length -0.25m.
2. A convex lens with poiler -4D has a focal

length +0.25.
.t A concave lens with poursr +4D has a
focal

length -0.25m.
4. A concave lens with po €r {D he8 a focal

length -0.25m.

104 -€I 6sFI *ldl
1. +aD YIfu d Vo wa dq qi qt6-€

qff -o.zsrn ilfr i r

2. -4o qrfu d g6 B-trd dts d s)6-fl
(ft +o.zsm dIfi t I

,. *1o cIfu 6 \ftF GFrtret dq 4ir $EFTI

Efi -o.zs. ffi tt
2. ; vtk 6 ytn oFIflaT dq' Eir s16H

qft +o.zsm *ff i I

Page 1E of 32
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105. A constant current I flows in a horizontal wire
in the plane of the paper from Vl ast to East
as shown in the figure. The direction of.magnetic field at a point will be South loNorth. 

N

1 . directly above the wire

2. directly below the wire

3. at a point located in the plane of the paper,

on the north side of the wire
\\4. at a point located in the plane of the paper,

on the south side of the wire

\06. lf the cunen\ by 5oo/o, the
'be (assum

t through a resistor is increased
increase in power dissipated will
e the temperature remains

200o/o

125%

constant)
1. 2250k
3.250o/o

)

108. Which of the following eye defects can be
rectifi edusing cylinderical lens?
1. Myopia .-2.'Presbyopia
3. Astigmatism - 4. Hyper metropia

109 . the linear distance between a consecutive
compression and a rarefaction in longitudinat
wave ts

1. y o .)/

2

3y7
4

4
4

it_\'6 Sfuq dR t co. fur< lcgo urv r
qkqq t Td o1.n{ T6 rfr ir fu-s R<
w gq-+tq fr ol Rvn sfuor * vfl{ #
eiq dr.ft, aa 

N

r fio on d sw d,rTt
2 &o on d fti dqr
3. dR A s<t aru, 6r{rs d dE i

Rerf, vfi fr= *.nr
4. dR d Efepft ilrm, +rq'q d ild d

RQrf, s6 frg etnr

105. l.h TTqI OFTUT dcI

E

s

n X-q-G srdrfugd rrm-d
50% { qT qtdT t. d 3rq-dqfr-d rTfu t
EEmr E),fr -
Fmu-6'o-r dFlnFr fun rrcr t)
1. 2250/0 2. 200%
3.250% 4. 125o/o

106. \ro sfrttlr--

e velocity - time graph of a moving body is

Which of the following statements is true?
1. The acceleration is constant and positive
2. The acceleration is constant and negative

2..{. Tne acceleration is increasing and
positive.

4. The acceleration is decreasing and
n ative

107. Th
shown in the figure.

ffifu( fr t dlc-qr osn siq tz
1. Grur furi sfh q-{rFr6, i t

2. s{q fuIt Gil{ eEvndr6' t I

3. e{q q6 T6r t uitq q-qrero t r

4. srq qd 16r t eir *unso i t

Trrq01 7 6IY6 TKI
n rr{l'IEYrjqr B I

drr-qr.gfu dv gwm sr w6-trr t?
r. fto-c gfr dq 2. wtr Efu dc
3. EEtsq 4. {igtuds

'1 08.

ft{in A ffs ol ttu-6 (fr t -
109.

Z.
4

T{TT

/2

3 4
4

2
-lv

1. .7

05A

3
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1 1'-j. For the vrave shown in figure, calculate the
frequency and wave length of the wave if its
soeed is 320 ms 1.

Y

x
20cmo

a, 80cm. 4000H2
3. 80cm.400H2

2. 8cm, 400H2
4. 80cm,40Hz

111. lf x calories of heat are supplied to 159 of
water, its temperature rises from 20"C to
24'C. lf specific heat for water is 1 cal g-t "g'
1, then lhe value of x is.

1 30 2. 120
31s J60

112. kt a hydro-Power Plant -
. 1. Kinetic energy possessed by the stored

water is converted into potential energy.
2 Potential energy possessed by the stored

water is converted into electricity.
3. Water is converted into steam to produce

electrLCity.
4 l-leat is esclracted from water to produce

electrrcitY.

113. The mass of a planet is twice and its radium
is three times that of the earth. The weight of
a body, which has a mass of 5 kg,
On that planet will be
1 1 1 .95N 2. 10.88N
3 9 88N ' -4.- 20.99N

1 14. Which of these can be used as ol-factory
indicator.
1. Vanila
2. Onion
3. Clove

u"-c-. At tne above three

1 '15. What wili be the products when acid reacts
with metals:-
1. Water and hydrogen gas
2 Acid and hydrogen gas

--3-Satt and hydrogen gas
4 Base and hydrogen gas

4

ffiG ffir d ftc. qR il{.r
ol qra szo .s',, d E\,rI ft1 3ilgfr 3t1
dr,T ed sn dftlt

110. fu, li

x
20cm

1. 80cm,4000H2
3. 80cm,400H2

2. 8cm, 400H2
4. 80cm,40Hz

-111. 

qf{ rsg GE 6\ x ffi0 $qr g-ilq d
sffi t, d s{f6r dFrEIrq zo'c t qtfl
za"c d "nor t t qR qa o1 ftftre uet
lcalg'l"Cl t' dI x o-f qn t
1. 30 2. 120
3. 15 4. 60

q6 cE-fr'gf, €zi7 t -I tifuo s-d of qft-q s-Gf an Rerd
g-cf i qffitr fo-qr oror tt

2. {ifuf, q-a o1 Raft-q wqf 6'r fr-gf,
6qf t qffin fr;qr urar tt

3. ft-g( silq o.{i d ftc qa d qrv

i qffin fu-qr orot tt
+ frgo ssq oEi d fts sd Q sqr

6r Frs-ftT fu-qr qim tt

112

e \'6 m or trqsH gff d rcuma t 55qr
on-i sffi1 Bwt ge4 aft B-wt t ffa
1_{r tt ir{r rE w \j-6 4q. fu-sftr
qqqlr sks d, or qn dfqi

11

210.88N
4. 20.99N

1. 11.95N
3. 9.88N

1r4. ilt o-q "3iE SEcff f<frd-cc' (srur

q{6) d sq t q'f.r df,T t t

1. {fi-dl 2. qlcl
3. di?T 4. sq{tffi ffi

rrs. qqi silrq dB cltl 3rEI, Erg * 3lfufr-qT

-\
ot( I 6:-
1. crFr de11 6g$s{ t-s
2. ond aetT 6r{Ftq-r't'€
3. dcg np.fl a-fil-q-c fls
4. Hr*D oen arE*)-wc t"€

0sA

L lrJ8'ort- L^N}!O + fL
Page 20 of 32C4



1 16. What h appen, when methyl orange solution 116. 4qT drn. q-q'
mixed with HCl.
1 . Solution becomes

l-Z- Solution becomes-3. Solution becomes
4. Sdlution becomes

Yellow
Red
Blue
Pink

cr l4d{q ---!qt

4. fudq*{
117 {{T dtlul $-

2. 3.1 - 4.4
4. 8.3- t0.0

t,.-

qg i)

qri

118. N

120

.-J1 Gold
3. Marcu

1. NazCOs
3. NHrCI

ame the metal which offers higher 1 18. ol qam 3lfu6
resistance to the passage of electricity than
copper. 1

J

ry

2. Silver
.,2*: None of these

1 19. Name two metals both of which are very 119 ftq
ductile as well as malleable
1. Gold and copper
2 Gold and silver
3. Silver and copper
4. None of these

{nil

3tlqf,-qEfft'q t -
1. fifl s drqr
z. ei-rT q sTf,i
3. qrff q diqr
4. srt-tr n t of{ =rO

2. 
"rfr4 tsqt-fiIttoE.r&gI{I

Tick the arrangement of metals Fe, Cu, Zn,
Ag in the order of decreasing Reactivity.
1. Fe>Cu>Zn>Ag
2. Cu>Fe>Zn>Ag
*Ag>Zn>Fe>Cu

'.{.Zn>Cu>Fe>Ag
121 Which metal does not corrode easily?

1. Gold 2. Silver
3. Platinum 4. All the above

122. pH is defined as:
'1 . - log [H:O.] 2. - tog [HzO]
3. - log [oH'] . 4. '- log tH'l tOH-l

120. tTlg Fe, cu,zn, Ag qgd
<cfdT t r

1. Fe>Cu>Zn>Ag
2. Cu>Fe>Zn>Ag
3. Ag>Zn >Fe>Cu
4. Zn> Cu >Fe>Ag

121

dtrrq
122. pH

1. srsq
3. s(rs{

ft;w urg 3lrqrfr r-3

6q n-ffiffi -

fiqr 2 d-fr
4 sqr ftrd rr*ff

STdT

2. eflftq
4. gqqqff

123 A solution turns methyl orange into yellow the 123. \,-6 fuilS{
approximate pH of solution is

1. - log [H:O']
3. - log [OH']

2 - log [HzO]
a. - bs [H'] [oH']

sttif, frer oq tm
t t tll-qc <FI pn TztT glrlT :-
1. 1.2-2.8 2. 3.1 -443.6.0-7.6 4.83-10.0

124. fii6 qrg. ffi 3{tiRlI{s
3rftfr-sl ?F{ sf,l=t o-idr t I

1. Oz 2. Hz
3. NH3 4. NOz

125. q@{sr$ ofrffiTEs or wfrq ft'rrqq il -

1. 1.2-2.8
\-J--€'-.o - 7.6

124. Zinc reacts with NaOH solrLtion to produce
1. Oz 4i Hz
3. NH: 4. NOz

125. Aqueous Solution of SOz is

1. Acidic 2. Basic

3. Neutral .4. Amphoteric

e

Page 2l of 3205A

6tE*dR-6 erq t Btrq qror ii
1. frtrfir fi-or elq I

2 ft-ilq-{ drd tllr I

3. frilq{ +fl E},TT

dr.n r

qrl

strg 3f,drfi ilq q

2. NaCl
4. COONa

TTAT

1.

3.

117. Which of these salts will gve-cidic solution.
'1. Na2CO3 2. NaCl
3. NH4CI 4. cooNa



1?6. 7hane with the molecular formula CzHs has

6 Covalent Bond

2. 7 Covalent Bond

3. 8 Covalent Bond

4. 9 Covalent Bond

127. A flagellum is Present at one end of a
protozoan. lt is
1 Planaria
3. Hydra

128. DNAis not Present in

1 . Chloroplast 2. Mitochondria

ucleus 4 ibosb{o/

v Paramecium
Leishmania

Br
1. 6 S6 C+r €d-qo
2. 7 {16 s+I €drq6
3. 8 HE €*qo c+l
4. 9 lrd frq}wo q+r

3IIETI {€TII126 HISI

z. tqrffRrqq
a ffiftqr

T6
+.o

1.

3.

q{ o{rF{ qEw
+iRqT
EEFT

127

qrar t :

1. drlwr€
3. frqa

2. qr{ia1Bqr
4. {r{stsq

128
qrqr

g6
+.e

1.

3.

qET, VflEl-UI2S

Trrsq orq

wfl-ftq sirf

stw r€i i?
r. ddt t q-qyils"T sfYi cRe-fi i saq-dl

d$IT I

2. qcI of erfr t q-qr{r

s dIRraEr z6l garmr vr+1 etrfft vo
3ll6R Oi il{rg {c"TI

4. !rF'M ri{dqq d ftq wm at 3Tr[ffi

6-$IT

130 6I130. Which of the following is

sDarrow are an examPle of

--l Analogous organs
2. Vestigial organs
3. Respiratory organs

Transpiration?
1 . Help in absorption and transportation in

plants.

2. Prevents loss of water

- 3. Maintains the shape and structure of

plants by keePing the cell turgid

4. Supplies water for photosynthesis

the wings of aof house flY an'129. The wrngs

4. Homol OUS O NS

NOt ttre purpose of

r. 0ffi+a sR*
z. ffi+o sfut
3 frfYd EDI
4. s{q t 6t$ c-€t

'131. 6IfrTrt fu-s s-6R
qfuianul elcr +o

Pulmonary vein canies

1 . Deorygenated blood

...2/Orygenated blood

3. Mixed blood

4. None of these

131

Cfofuo orq
Eerr-{dF

z. ffitffiq
4. qr{d6'rqP{c

t
1.

3.

@-{itT32132. Cell division in Plants is
1: Ab;risic acid ' 2. Gibberllin

-+.fttrytene 4. Cytokinin

promoted by

2. q-f-{
+. <iBol a\Rrot

133.

1

3

ag

$k-sT

qrfr t133. Loop of Henle is found

c-{-trlephron 4. Neuron

in:
2. Liver1. Lungs

I L(, t€(2 Qs2
Xe- &

24O t Y(g

lL:l-ot-
/\ + u /r\ / L\1

-t*q05A

>L

3(z)(
Page 22 of 32
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134. Flight and faght hormone is :

-41 Adrenalin 2. Thyroxine

3. Oxytocin 4. lnsulin

142.'a' Tf, \rs' 3r<T:
rrqr tl Es sl<r: srf d q6. orfr: Tf, 6qr
rrqr Bt {s ol<T: Tfl t g.+ C-6 er<: srf
ffqr rTqT tt {s srfr: a,f d gw o1
dqr{ t:
1.2a a

a

a

o 4.a

'135. ln the food chain given below, if the amount
of energy available at fourth trophic level is s
KJ, what was the energy available at the
producer lever? f
Grass-) Grasshopper) Frog)Snake) Hawk

-- 1 5000KJ 2. 500KJ
3. 50KJ 4. sKJ

135

134.Si{ffi
erqtq oar sro t :

1. Tqfrifu{ z. enq-tfuq
o. efRsdfu{ 4.

sla TcIqil KT
gv Brrilel vlqf sru t I sflr{6' 6r c{
fr-rfi.g-qt strtrq S?
qrs )EqgI rt66')sic )sM
1. 5q)0KJ 2. 500KJ
3. 50KJ 4. sKJ

136. Jaya and Ratna are varieties of:

-,-{. Mdze 2. Rice

3. Wheat 4. Bajra

137. Which of the follovying in NOT an ancient
water harvesting structure?
1. Kattas C.€argam
3. Kulhs 4. Surangam

136. frqfufu( {
01f6-s t:
1. TFFFT

3. t(

t qqr ellr rm.fo-tr qrra

2. qrtrfr

4. tlluNl
137. fr

2.

4.

BFI WT{q
€rq-{r c-€f t?
1 6-e.ZI *T$FI

138. ATP is formed by photosynthesizing plant
cell by :

1 . P_bptophosphorylation

-trxidative Phosphorylation
3. Substrate level phosphorylation
4. All of the above

139. Breathing rate in human is controlled by :

1. Thalamus 2. Hypothalamus
3. Cerebellum --{r-iiiledulla oblongata

13B.jrirltrffi
fu-s cfu-qr am e-'rd t :

r. qffirRe{rq
z. .r-I.Fiisfeq IDIFEIT{dIIFI

3. rra$c wfiq qMfuil{r<
4. sc-trfr qft d em

i3s. qFI?ri Y-d-€-{ {iffiffi-t ,--
1. *dlrs 2. Er{da)tw.
3. tfiimc 4. tq{iTr ffitsr

140. The number of pairs of nerves which arise
from spinal cord is :

--?:21 2.31
3. 41 4. 51

'141. lf a:b = 2:3 and x:y = 3:4, then
2ax - 25by

-- 

lS
3ay + 4bx

124 15 2.5t24
3. -24 t5 4. 12 13

140. islin{ ftcrq-r-d 6tg) t ffi qfr
.ihol g'* at €wr t:
1. 21
3. 41

2. 31
4. 51

tlt. qR a:b = 2:3 Stt x:y = 3:a, d d
2ax - 25bv

3A.w tDI cr< 6 -
1.24 15 2.5t24. 3.-24t5 4. 12 13

142. A square is inscribed in a circle of radius'a'.
Another circle is inscribed in that square and' 
again a square is inscribed in this circle. The
side of this square is :-

1. 2a 2.4
1

3 _E 4.a

05A

a

P,ige 23 of 32

3. QG

@



143. lf ricosd .bsin)=c. then asind+bcosd=?

t x,Fa'

3. tG
+b2 +c2

-b2 +cz

2+
4. +

a'+b'-c'
a2 -b'-cz

148 lf x, y and z are positive real numbers and a,

b and c are rational numbers. then value of

-1-r'l+x'-^+x"'l+xb'+x'=
I
is
1.

3.

+r +x

1

0
2. 1

4.2

/a I

Yr7-
Zrl

ztta
Yr7

?.+v

J?
). Fl

t-

t_+ Z+ I

Page 24 of 32j 12 ")*2
.2zl/. *,i
ztl ryt +2"+2il

143. acos0 -bsin9 = c, asin 0 + bcos9 ='l

1. t
3.+

a2 +b2 +c' 2

4

+ a2 +b'-c'
a'-b'+c' + a'-b'-c'

144. ll x- -3,;r+2 isafactorol xo -pl +q, then 144. qR r'?-3r+2 qgqE xo - Px'+q @1

TUITqw d d P a q ;h-RI: {FI t:the values of p and q respectively are
1. -5,4 2. -5,-5
3. 5,4 4. 5, -4

1. -5,4 2. -5, -5
4. 5,43. 5,4

145. lf xr, x2, x3, 

-, 
xn are in A P., then the va lue 145. x1, x2, x3, 

-, 
xn {IrlT<It (ap)

rtllof + 
-+-+......*- 

lS
xtxz xtxt xtxo xn-tx,

dd
qrq t:

lll
-+-+-+xtxz xzx3 xtrt

......+ I 6.t
xnri'

n-l n -1
1 2

xtxu xtx,-t
n+1

n-l n-l
1 2

n
4

xtx, xzxn-t

n+l3
xrx, xrx, n

43
xtx, xrx,

146. lt x2 + Y2
11

2xy 4, then the value of

I +y'it-
1.2
3. 8

2.4
4. 15

146. qR r *f *)*j=4, E\ di I +f at

qT;I t
2.

4.
4
16

147. ln the figure, BC = CD = DE and P is mid point.

of CD. The area of AAPC is
A

B

1

1. - ar (AA
3

P D

Bc)

I

z. ! ar (AABD)
2
I

4. - ar (AABO)
4

3 ! ar (^ABc)

147 . BC = CD = DEflEfi P, CD

6r qtq fug tt anpcor
A

*roa t :-

B P DE

z. !ar(AABD)

a. ! ar (AABD)

1
I

3

I
6

al (AABc )

3 ar (AABC)

148. qE x,y4z EFIItrl-fi ffi6 qsr( Ei 3AI

a,b4c{frt{sqr(dd
ll I

t;V'.r*+
l+x'-h +x'-b

+
l+xb'+x"-u
6.r cI{ it
1. -1

3.0
2. 1

4.2

05A

1.2
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149. tf the height of right circ*rtqr rylinder is
increased by 10% while radius at base is
decreased by 10% then curved surfacc aqra
of cyhnder
1. Remains same 2. Decreases by
3. lncreases by 1% 4. lncreases by 0.1%

do.*Ed-qr$frroxdgtrorfr
qrc d ssd ffi g*q f*$Fr :

r. s-S €'n z. txfr o.ff frrft
s. rx o1 gtr dr.fr a. o.rx o1 gk

145. 10%Effvf,

(n - t)+ t. (n-z)+
G4

1 2

I
3

rso. qfi ii ?2, oz, ...

I

I 6-r qrq {{rfl t?

a"l$<R +A d t

a,_z

I

n -l
In+-
n

(r-t)

ll
oz ol

al ,a, a,
a) a) an-t

e.p. eitt ar = o iTtl

150. lf al, dz, dt, ......., an are in A.P. and ar = o,

then the value of lo, *oo *......* o, 
)

. (', a, a,-, )

, l*......*Il is equat to
at a,-2.)

^tz. n+-n-l

There circles louch each other externally and
all the three touch a line. lf two of them are
equal and radius of third circle is 4cm then

(z - t)+

\

I

1

I
3 4 ("-z)

radius of e
1

-42

(,-t)

cm
. 16cm

I
n+

n

I

(n-z)

qual circles is :

2. 8cm
4.20cm

oft wfr
qR B-{n
of B'{qr
+o.

fl-{ s6 tsr art wf o-tt ilt d fc srwr t ilrrr frqt gf,
4tfr. t, nET{rv{gro1M

Erfltct

r. rztfi.
g. rotfi.

z. atfi
4. 20tfr.

TrT 96

'152. ln the given figure, the centre of the circle is
A and ABCDEF is a regular hexagon of side
6cm. The approximate area of segment BPF

\
E

D

is.(Taker=3.14).

1! 25 cm,
3. 32 cm2

2. 22 cm2
4. 30 cm2

(...("t:/8_
X tt', 2
.=. 4a "& ,'..

6tff gqT ol v6 serq t I spr .{rrr 6r
elau-a arnm t G=0.1+)

c E

D

152 R9 rg AEd6r .I9{I ABCDEF

1. 25 cm2
3. 32 cm2

2. 22 cm2
4. 30 cm2

1s3.qR | *l =2,y+z z+x x+y
qrctrqr$:

ea f+f an

+. f +22

2. -222t. 1

3.221

154. qR f -y+z; y'=z+x eltt z2 =x+/
os I * 1 * I otqrcwrt?x+l y+l z+l
1. I 2.0
3. -1 4. 2'

153. tf I + I = 2 , ,n"n what is they+z z+x x+y
ialue ol x2 +1i t
1. 1 2. -222
3. 222 a. f +/

$4. fi f =y+2, !2 =z+x and z2 =xty,lhen

what isthevalue of I * I * I 
?n+l y+l z+7

1. 1 2.0
3. -1 .*:2
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155. lf a,B,y are the roots of the equation

r' + 4i r l = o, then (*A'$P*l" r\y*d'

2.4
J 4. 5

156 I x, y, z arc three Positive numbers then the
v+z z+x x+Y

minimum value of 
-+ - 

+ -_- ls
xyz

1 5a The minimum value of the expression
3b+4c 4c+a

- 

| 

-+
'iiu ' ,'u," are + ve)

3b

t 5& tne volume of a cube is numerica lly equal to
sum of the length of its edges. The total
surface area of cube in square units is
1. 12 2. 36
3.72 1. 144

2.2
4.6

2.4
4.8

1. 1

3.3

a
1. 1

3.6

r=oqfi-o-turdTt ",p,r
t d (a+fr'r{P+)" {r*d'oI cH t

tSS. qR xr +4x+

2.4
4.5

1.2
3.3

Y+z +z+ x +x+Y q;f qnilC q-q | :-
xyz

156

2.2
4.6

1. 1

3.3

x, y, z fft v<nro

si6p; 3b + 4c * 0".!. o * o l.tu 6'I {r-dqa3b4c
qrq t (wsfra,5,6 u-aloo $) -

157

2.4
4.8

1. 1

3.6

158. 9.5 q{ 6I sTr.lTFI *fL4lrekF'5q
q-qrcil of a-{r{ A q}'r d Trr+r t t sH

# W g*q fids-d Eri ror$ t t:-
2. 36
4. 144

1. 12
3. 72

159. t4G?F 14'- 6'
1. 8
3. 14

2. 20
4.6

d"n r lJsr QR arr qtzr ftg t t Ann i
ci eia: gt a1B-qT dt dqr$ @r *Ifr?

160

aP

T

Rs

a

R
s

PORS OI 5mr ot

3

3-J5
2

3+J5

6a_
3+J5

n. 3+J5

ffiTffi{ d wnrfl 6q g{?161

2. 1988

4. 1991

1. 1973

3. 1957

roe. ffifuo t t 6tq w tu gcn vRu-<

or *err$ s{s rfr t?
,1. rH 2. fr1
g. sffi 4 srtfoor

tSg. ffre expression 14'- 6'will always

PQRS is a square of side 6cm eac
mid point of QR. What is the radius of circle
inscribed in ATSR.

161. When was the democracy restored in Chile?
1. 1973 2. 1988
3. 1957 4. 1991

162. Which of the following country is not e
operational member of security council?
1. Russia 2. China. 3. Germany 4. America

160

:+Js

T

6
21

2
4

P

c\
E

divisible

handTis

3

3-./s

2. 20
4.6

s+S
:+.6

f '-l.Z=t

o

)L, r

B
1 o5A Page 26 of 32

a

is equal to
1.2

+

1 r'A5rr
3l

I f1 bt lq
L2- ,--va

1

s

3.

R

lo\

by
1. 8
3. 14



163. Who among the following was not a member
of the constituent assembly?
1. Mahatama candhi
2. Jawahat Lal Nehru

-ffir. Rapndra Prasad
4. Dr. B. R. Ambodkar

164. Which of the follov\ring Secretary General
said that "US war on lraq was not legal'
1 . Kofi A Anan .,.2. B.B. Ghali
3. U Thant 4. Ban Ki Moon

165. President can declare emergency when -
1 . Prime minister advises him to do so

' - -*. ?aiiiainent advises
3. The council of ministers, in writing,

advises him to do so
4. Home minister ask him to do so

168. 'End of Racial Discrimination' is a part of
which fundamental right?
1. Right to Freedom
2. Blght to equality

.-€aTight against exploitalion
4. Right to education and culture

169. The movment for the individual and family
right of women is known as -
'I . Mahila Adhikar Aandolan
2. Mahila ShaKi Aandolan
3. Narivadi Aandolan
4-_Mri Shasktikaran Aandolan

163. frqftfud t t ot{ ffirrr< $rTr S s+s
TS a)?

I q-6-6r ffi
2. ctirld{ E[Ta i65
3. sro Yriq !-{TrE

4. sro fro oTRo or+sf,r

1er. E{ril qRq-( A fu-s rersfus i 6Er qr
"srnfuE r ol {vro' qq srlfirm 6r1fi s€l
.r€t ,Tr
1. 6d g qETFT z. fio fio qrfr
3. { qFre 4. sH sfr TT

165. <tgcft Grrqc?hlei a1 drs"n oif,Tffir
i. cr[{Ei* E-irr6 td t
2. TisE al rora qc

3 q* qRq-E aff fufu( Hcn6 rn
4 T6{*otwarw

166.166. 'KOSOVO' was a province of fy bebre the
spilit
1. Vietnam 2. Zimbr,bve
3. Sri Lanka ,.Jfroslavia

3lc'FI 6I

167. Which of the following state was bom out of
culture, etf nicity and geography.

' - - 1. Kerala 2. Nagaland
3. Mizoram 4. Assam

Tri-d d ofltIN cr gsfl I

1 a-{f, 2.

3. fuvf{q 4.

fi<t eII:
r ftqd-{rq
3. * i{6'r

167 . {rwl 6'I rrcFr

2. fuqrd
4. {rilwrfuqr

qrrrr&u-g

3ftIIII

168. '3rqTqiTr 6r .i6 ft-S {ilrkfiR OT (-6
rIrrT B?
'1. Ei-rf,T 6'1 3IR6rt
2. lSEIFIflT 6T 3lfutr{
3. rtsur A ft-d-q srfuoR
4. Rrefl W €-q.fr 6'r orfum'R

16e. qFilBit A qfu'Id Sh crffifi, dffi
t Trr+fr dl qtrr vdri EFA oriEtm{ 6)
6-6r qrdr t -
1. qFdr or.Rff srt<Itr{
2. qFfrr clk oriiltr{
3. qrffcrfr oriEttr{
+. arfr snko-tur sri+tr{
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170. What is the meaning of 'Transparency'?
1 . When decision is taken by the ruler.
2. When decision are make through leader's

. conclusion

-*-i. Wnen decision are made for individual
grqeds

d-Vhen decision are taken with honesty and
proper follow of rules

171. The lnternational organisation that works for
human rights is -
'l . Ametv lnternational

...-zamnesty I nternational
3. Asnesty lnternational
4. Afnesty lnternational

172. Whatwas'Livre'
\-.rt: Currency of France

2.' Newspaper of France
3. Magazine of France
4. Flag of France

'173. Who granled sole right to trade with East to
East lndia Company
1. James I

2. James ll
3. Elizabeth I

\4t-€Iza beth ll
174. ln which congress session, Non cooperation

programme was adopted
--f-. Ahmedbad 1921 2. Kolkata 1917\ 3. Amritsar 1919 4. Nagpur 1920

175. The first Modern Novel published in

Malayalam in the year 1889 was
' 1. lndulekha. 2. Rajasekhara Caritamu
3. Irilanlu Ghose
4. Pariksha Guru

'176. The painting 'Damayanti' was made by
.-,-{ Abindta Nath Tagore

2. William Jones- 3. Raja Ravi Verma
4. Ravindra Nath Tagore

177. When was Simon Commission arrived in

lndia-
1. 1928 2. 1930

1 "r" ffwd crNlo gRr frC sIA tt
2 Eq S-sA d-q-d tdT d Frq{ it drd

dr
3. sE fisA tq"furrd RTQi d qtqi

Ts-m{ ftt glt dr
a "rq fis-d ffi oAr fiqqrTsT{ frt

qriti

3I2T ts/170 'ql{(Rtar 6I Tqr

fi\ 6lq *i * 
I

or-i-trif$q €Tr-d{ t -
1. sri-A ge-{i{ri-d
2. gq-+d ir-ii{F-d
3. \rstd E.{i{rq-d
4 lqrid EC{irr{d

171 ql;lqr-fufir{i

rzi.-ffit cqr tn
r mis 41 w TcT
z riq 6t wql=Il( q-l
s ris o1 go qh6r
c. I6iS 6r S.sr

173. \ro 
"TC{ 

d q|tTq t
oG or \-dTfu6T{ {€ *qT 6q-fr d
farfli ft-{T?
r. dq qerq 2. iq{ Ffi-q
g. gftrgriq qarq 4. qftrqliel Eftq

$ d iilpl erurt

-furr 

oTefurq n ors6*rr 6T{-fiq
ffigo fo-m.rot -
1. of6ttfl6ll< 1921

3. 3lTf,{lt 1919

zht,ktrflT 1917
;IrrI53 1920

2

4

17a. oiifl

rzs. rsas li raqrf,q qlql
engfto sr<rr w -r rrgd-e]
2. {qtsi dTfodg
3 qqfi
4 qfrer xr

t roftro qerq

Tq6 ffi (eainting) fr-si
e{d eff?

r. ero-< qrer &iR
2 Afuq-q fr{
3. Ylqr {fr qqi
+ rfi-q qrq triR

176

rn qr$T{ 6ffYH lTl-56 5-q qrtrT -
2. 1930

4. 1932
1. 1928

3. 1931

05A

3. 1931 4. 1932
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'Rinderpest' is a term used for
t A caltE disease
2. Missing of cattle
3. lndentured Labourer
4. Mass production in a factory

179. Giuseppe Garibaldi was a famous freedom
fighter of -
1 . Germany
3. lreland

'180. Gudem Rebellion was led by'1 Baba Ramchandra
2. Jawahar Lal Nehru
3. Alluri Sitaram Raju
4. lvlahatma Gandhi

181. "The Social C
1. Dantey

.2. Rousseau
3. Petrarek
4. Napolean

-2.-Poland4. ltaly

onlract" book was written by

was

\2<4
4.5

lowing is considered as social

.*a€duetion
4. Communication

T
d
he principle of the 'Garden City,
eveloped by

1 . Raymond Unwin t*-SaryFarker
3. Ebenezar Howard 4. Herbert Baker

183. Which of the following organisation looks
after the credit needs of agriculture and rural
development in India.
1. FCt 2. tDBt
3. NABARD 4. SBI

184. How many phases are there in circular flow
of income?
12
J.O

'185. Which of the fol
infrastructure?
1. Transport
3. Energy

186. Multiple cropping refers lo

1

2

3

4

cwil n ftffi
cwrt 6r xt d unr
3t-gEftrd +Ik6

Yf<178

ffqfr t
giII -
1. uffi
3. e,Il{tdrg

179

dA"s
rc-fr

c6' qfu-d gafqm

80 6T

fu6,r9
1. Eia
3. +frd

ol-qE'4qm. gffifi'181

2

4

6Rr

Esi
itfuqq

ot-
I H-s oI{E.q
3 yi+q-{ Els€

182. 3trtEI-{qI rqil

E{d
tfr qet

*itiEft s6-irt
6.rdr it
1. FCI
3. NABARD

dQrT qrfrq ft"firfi.6'f fiarfud
gt g{16;I o1 crsn

2. tDBl
4, SBI

'184. s[rq
1.2
3.6

a-*tq rqra q{q
2.3
4.5

q-{f,{r qHr cTf,r d?
1. gkflrlrfl 2. frreTr

3. s-sf 4 {{F-sR

185 {t

1 tg G qrcrEr srn{t
2. dr s-fl-d qEr.I-qErrI riftrqi i s:rrqT
3 S6 fr dr t q-o q{ t C-6 * 3Tfu6

IE$A BTIFII
a q-€nl slllrr oiq qgqrf,{ Vo sr2T

iDFIT

1 86 Tqt +-)t!:
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178

182.

1 . Cultivation of Wheat and Rice
2 Cultivation of two crops in alternate rows

'. , 3. Cultivating more than.one crop on the
same field in a year.

4. Cultivating crops & rearing animals
simultaneously.

e-9ffi g3Tr

giqlq;I

2.

4.

1. E1r[ trIt.t<
2. u-4rtr{ drd iE6
3. oTeenft frdrirq iTq.
a. qgq ffi

2.

4. nm-i

oI Yfdr',

183.



Tq(t
ot aq
s{
s{

sTrg Tm187 .

s.{
s{

I
3 3

itr
2.2
4. 4

EId 6dTUI
gsolGfrt

188 (cos)

1

3
1

1

965
98

r. €Rrr.fifr
z. do vr$< c-sr<

3. qqr6t ara irs
4. tlcllq .Tf{ c'}d

qqg 3{Eq&II 89

t?
1. 33%

3. 30%

190. qrtf, q{

2. 35%

4. 25%

frd'Erfi d 1ol, u-ut as ol fiq Tqio,
q sa ?ii-A; ol cftrtftdT qT{ qrff *?

191

r. gqfrfrq"q
e. d-Er

2. q4r qeN

4. 3rq?F

tu
1. BHEL
3. SAIL

6T gErflqqrsgffi192.

2. OIL
4. Trsco

Tc=Tt<riq Erft{it aeTr tft d qdrdl t?
t. H z. vsoqR{6{

wa qR-{r{ a cl-{qmr$q

qI H'IEFI193. 6-l

3.

w ftra t?
r, ffirRqr fid
s. qfu{ fid

z. rarfi dra
+. rci t 6t$ TS

194 Tqr{

qrlc?it 6't qqt iF'6t qial t?
qta fun1e5. ag

I

3

daifi

sr&
4{ii

srgitd
2. de

t gg. Wnicn mode of transPort
shipment losses and delaYs?
1 . Railways 2.. Read waYs

3. Water ways .1. Pipelines

'195. The longitudinal valleys
Hirgalayas and Shivaliks are known as

\ /vattevs 2. coast
-3. Passes 4. Duns

lying between Lesser

reduces trans-

lake lies on thethofich following1 94

. Equator?
1 . Lake Victoria
3. Lake Nasser

Lake Malavi
None of these

2. 6'rcil qlW
+ srfuiD. qr.n

196. a-g
srwtffii?

dRq-qq qrtc
1

qrw3.

187. lnfant mortality rate refers to the death of
child under the age of

,,--4-'i year 2. zyeat
3. 3 year 4. 4 Yeat

188. ln which Year was
Delelsprfi e nt Service (

,.-{ 1s6s

lntegrated Child
S) introduced
1975

the
ICD

2.

2

3. 198s 4. 1995

189. The first chairman of Plan ning commission
was?
1. lndira Gandhi
2. Dr. Rajendra Prashad

Q,-Cet shar Lal Nehru
4. Vallabh Bhai Patel

190. What percent of the totaI surface area of lndia

191 . Which mineral has excellent dielectric

r is covered-,y mountains?-t:T37- 2.35oh
3. 30% 4.25o/o

strenqth, insulating properties' low power

loss fictor and resistance to high voltage?
1 . Aluminium 2. Linle stone
3. Copper 4. {Vl-rca

192. Which of the following is an example of .ioint
sector industry?
1, BHEL
3. SAIL TISCO

196. ln winters, the western ryclonic disturbances

L

originate from which sea?
'1 . Caspian sea 2. Black sea

--3. Mediterranean sea 4. Baltic sea

05A
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197. Balancing the need to use resources and
also conserve them for future is calledi
1. Resourcedevelopment

:,.a 2. Resow ce conservation
3..€ ustainable development
4. Human Resource Development

198. Which among the fol lowing has the maximum
number of National Parks?
1 . Andaman and Nicobar lsland
2. Armachal Pradesh

;3. Assam
4. Meghalaya

199. Accord in9 to the 'Theory of plate Tectonics',
when some plates come towards each other
which one of the following is formed?
lY Convergent boundary
2. Divergent boundary
3. Transform boundary
4. None of the above

200. The largest producer of cotton in the world
ts:-

4'. lndia
2. China
3. Brazil
4. U.S.A

Hcr qBq A ftc san dr eqr 6Ei t?
1. €frrtr{ f{6,rs
2. dsrw €elur
3. sd-q+quftq ft-flq
4. rtFrr *iuma 6*

at ons$q-m-dT

rr$q crot vsn furd t?
1. 3IGTTFI furfi Ac TT{d
2. 3r6oflfir c-tsl
3. srFq
4. tqrffi

'198 trt \TCqT

ffifud { t rqr q-{rfi t?
1. orfrrFrfi fu-{M
2. 3rTsrft fr-{nr
3. d'wunfr-6 fu-{r{r
4. {qi fr ot$ Tfr

vltl3r-IsR
\-6 oi-i .rh qrTff d6(st

tFIIl.it{ 6'I tsFTRo,

{Iy oriR-mT

6-l
ot{

qt{d
t.l li
Ef-.ftd

gT tr
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199.

qff

1.

2.

3.

4.

200.
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